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21. .The diagrams below illustrate field management practices. Study them carefully and answer the
questions that follow.

b

a) Identify the field practices.

b) Name a crop that can be managed using management (M) above.(1mk)

Vawoﬂ frut / Somg bean yaaehs *

c¢) Give one reason for carrying out each of the management practices above.(2mks)

M.. p{owc/u Suppert. To. cvops . witk vines:
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22.. A famer is advised to apply 60kg N, 20kg P20s and 30kg K20 per hectare

Calculate the quantity of urea (46%N), single super phosphate (20%P20s) and muriate
of potash (50% KzO) the farmer should apply on his 10 hectares land. (5 mks)
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(c) State two advantages of the practice illustrated above in crop production. (2 marks)
Sk i ved [0 atwy lage plaatvg melegte
— Ak V%[5 profegate  plantt  yhtse bntkes canndt
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b) State two ways in Which pruning assists in controlling crop diseases. (1mk)
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CTION A (30 marks)
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Answer all the questions in this section in the spaces provided

1. Give two disadvantages of intensive system of farming. (1mk)
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2. List four methods of fanmng (2mks)

i s
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3 Give the meaning of the following terms:
a) nitrogen fixation into the soil; (1mk)

Nilegen gac_1i onvetted i 15 g0ms il ke ebaree] by plout
b) phosphorus fixation in loss of soil fertility. (1mk)
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- 4, List four ways through which soil PH influences crop production.(2mks)
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5. Outline four factors that affect the effectiveness of a pesticide.(2mks)
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6. Sate two reasons for land fragmentation in Kenya.
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7. Give four advantage

(1mk)

s of individual owner Operator tenure System as practiced in Kenya. (2mks)
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(2mks)
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10. State four factors that determine the stage at which a crop is harvested. (2 marks)
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11. State two activities carried out during hardening off tomato seedlings. (Imk)
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12, G1ve two reasons for carrying out each of the followmg operations in land preparation:
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13. Give four benefits of practicing organic farming.(2mks)
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14. Name three vegetative parts that can be used to propagate pinapples. (11,2 marks)

o) State three dlsadvantages of vegetatlvely propagatmg pmapples (1}’
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16.  Name two classes of weeds on the basis of each of the following:
a) growth cycle; :

= rengl,
- Brlenmyals®
b) plant morphology. - (1mk)
T Broudleaved
SECTION B (20 marks)

(1mk)

Answer all the questions in this section in the spaces provided.

17.

Below is a diagram of a weed. Study the diagram carefully and answer the questions that
follow.

a) Identify the weed illustrated above. (sl /
louih gwss ;

b) Why is the weed illustrated above difficult to control? (1mk)
1 hes  undiground rhizomes -
C) State k%ﬁ ways in which the weed can be controlled in a field of maize.
(2mks)
= Use O glechve b,

T o Mg expeuhlly 15 g semsom
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18. The diagram below shows a.pest and the damaged crop

. Study it and answer the
questions that follow.

a) Identify the crop pest illustrated above. (1 mark)_
L R
b) Explain two ways of controlling the pests. (2 marks
- u;cgrzﬂmﬂ'myﬁelmrdugp()
~Rurly. planting g lis. g fo establich and oofpos b pat-
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20. The diagram below illustrates a nursery practice.





